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. [A simple machine is a machine that does work
with only one movement.

You press Rock
down

moves up

e Examples
o Inclined plane
o Lever
o Wheel and Axle
o Pulley
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* |An inclined plane is a ramp.
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*|Aleveris arigid rod that rotates about a fixed
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WRIE

>
‘A wheel and axle consists of two objects of

different size attached in such a way that they
rotate around the same axis.







[Wedge

* A wedge is similar to two inclined planes
together.

»_;( InPcllined ) // |
Screw

* Ascrew is similar to a wheel
and axle with an inclined plane
wrapped around it.




*| A compound machine is combination of
simple machines.
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* A wedge is a combination of two inclined planes




Examine the diagram of the sewmg machine below.

bight drive motor

main shaft

needle bar

connecting link —_ / i

needle bar

feed drive motor
feed bar
feed dogs

machine bed

hook —

hook gear

main control

am

™ feed gears

hook drive gear

pattern selection
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printed circuit boanJ

drive motor

“~ timing belt
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There are lots of parts that move in all different directions.

printed circuit boa

All those separate parts make a sewing machine a

compound machine. Can you identify the simple machines

init?



